
 

 

If: 𝑵𝑿 ∥ 𝑨𝑸 ∥ 𝑷𝒀 ∥⇒ Prove that: 

𝑿𝑵

𝑵𝒁
⋅
𝒁𝑷

𝑷𝒀
= 𝟏 
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𝚫𝑨𝑩𝑬 and 𝚫𝑩𝑵𝑿 (They are similar) 

Then: 
𝑿𝑵

𝑨𝑬
=

𝑩𝑵

𝑩𝑨
    (1) 

Also, 𝚫𝑨𝑬𝑪 and 𝚫𝑷𝒀𝑪 (are similar) 

Then: 
𝑨𝑬

𝑷𝒀
=

𝑨𝑪

𝑷𝑪
   (2) 

Multiply (1) and (2) side by side: 

𝑿𝑵

𝑨𝑬
⋅
𝑨𝑬

𝑷𝒀
=

𝑩𝑵

𝑩𝑨
⋅
𝑨𝑪

𝑷𝑪
⇒

𝑿𝑵

𝑷𝒀
=

𝑩𝑵

𝑩𝑨
⋅
𝑨𝑪

𝑷𝑪
    (3) 

On the other hand, according to Tanasis Gakopoulos theorem, in 𝚫𝑨𝑩𝑪… 

𝑵𝒁

𝒁𝑷
=

𝑩𝑵

𝑨𝑩
:
𝑪𝑷

𝑨𝑪
   or   

𝒁𝑷

𝑵𝒁
=

𝑨𝑩

𝑩𝑵
⋅
𝑪𝑷

𝑨𝑪
    (4) 

Multiply (3) and (4) side by side: 

𝑿𝑵

𝑷𝒀
⋅
𝑵𝒁

𝒁𝑷
= (

𝑩𝑵

𝑩𝑨
⋅
𝑨𝑪

𝑷𝑪
) ⋅ (

𝑨𝑩

𝑩𝑵
⋅
𝑪𝑷

𝑨𝑪
) = 𝟏 

 


